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Numberl:

#include <stdio.h>

void sort (int array[], int size); /* mergesort - O(n log n) */

void consecutive(int arr[], int n) {

}

}

int 1,j;

int *tmp, max=0;

sort(arr,n);

if (NULL==(tmp=(int*)malloc(n*sizeof(int)))) {
printf("Memory allocation error\n");

exit(1);

}

for(i=0 ; i<n ; 1++)
tmp[i]=0;

for(i=0,=1 ; i<n ;i++){
if(arr[i+1] == (arr[i] +1))

it

else {
tmpl[i] = j;
=L

b

}

for (1=0; i<n; i++) {
max=(tmp[i]>tmp[max])? i:max;

¥

for (i=0; i<tmp[max]; i++) {

printf("%d ",arr[(max - tmp[max]) + 1 +i])

Number 2:
#include <stdio.h>
#define N 5

enum {EMPTY,WHITE,BLACK};
enum {FALSE, TRUE};

void solve (char board[N][N], int row);
void print_board (char board[N][N]);
int threatens (char board[N][N], int row, int column, int color);

int main()

{

char board[N][N]={0};
solve(board,0);
return 0;
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void solve (char board[N][N], int row)
{
int wcol, beol;
if (row == N) {
print_board(board);
}

else {
for (wcol=0; wcol < N; wcol++) {
if (!threatens(board, row, wcol, WHITE)) {
board[row][wcol] = WHITE;
for (bcol=0; bcol < N; beol++) {
if (board[row][bcol|=—EMPTY &&
Ithreatens(board, row, bcol, BLACK)) {

board[row][bcol] = BLACK;
solve(board, row+1);
board[row][bcol] = EMPTY;

h
}
board[row][wcol] = EMPTY;
}
b
}
return;
}
void print_board(char board[N][N])
{ . .o .
nt 1,);
static int counter=0;
printf("Solution number %d:\n", ++counter);
for (i=0; i<N; i++) {
for (j=0; j<N; j++) {
if(board[i][j]=—EMPTY){
printf(" . ");
}
else if(board[i][j]==WHITE){
printf(" W ");
h
else{
printf(" B ");
h
b
printf("\n");
b
printf("\n");
}
int threatens(char board[N][N], int row, int column, int color)
{



intr;
/* check if there's a queen on this column */
for (r=0; r<row; r++) {
if (board[r][column] == color) {
return TRUE;
b
}

/* check if there's a queen on the diagonals */
/* first, check the upper-left diagonal: [row-r,column-r] */
for (r=1; row-r>=0 && column-r>=0; r++) {

if (board[row-r][column-r] == color) {

return TRUE;

}
}
/* then, check the upper-right diagonal: [row-r,column+r] */
for (r=1; row-r>=0 && column+r<N; r++) {

if (board[row-r][column+r] == color) {

return TRUE;
}
H
return FALSE;
}
Numbers3:

#include <stdio.h>

#define SIZE 100

struct cell *MaxSort ( struct cell *list);
struct cell *RemoveDuplicate ( struct cell *list );
void Removeltem ( struct cell *item );

struct cell{

const int num;
struct cell *next;
struct cell *prev;

struct cell *MaxSort ( struct cell *list )

{

struct cell *tmp1, *tmp2, *max, *prev, *next;
prev=tmp | =list;
while(tmp1!=NULL){
max=tmpl;
for (tmp2=tmp1; tmp2!=NULL; tmp2=tmp2->next){
if (tmp2->num > max->num){
max=tmp2;

}



}
if (tmpl==max){
tmpl=tmp1->next;
b
prev=max->prev;
next=max->next;
if (prev!=NULL){ /* max is not the first element */
prev->next=next;
list->prev=max;
max->next=list;
max->prev=NULL;
if (next!=NULL){ /* max is not the last element */
next->prev=prev;

}
}
list=max;
}
return list;
}
struct cell *RemoveDuplicate ( struct cell *list )
{ struct cell *tmp;
list=MaxSort(list);
for (tmp=list; tmp!=NULL; tmp=tmp->next){
while ( (tmp->next!=NULL) && (tmp->num == tmp->next->num) )
{ Removeltem (tmp->next);
b
b
return list;
b
void Removeltem ( struct cell *item )
{ item->prev->next=item->next;
if (item->next!=NULL){
item->next->prev=item->prev;
b
return;
}



